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1. Find a positive number which when increased by 17 is equal to 60 times the reciprocal of the number

a.3

b. 10
c. 17
d. 20

Answer. a

2. What decimal of an hour is a second?

a. 0.0025

b. 0.0256

¢. 0.00027
d. 0.000126

Answer. ¢

3. Three number are in the ratio of 3: 4: 5 and their L.C.M. is 2400. Their H.C.F. is:

a. 40
b. 80
c. 120
d. 200

Answer. a

4. Find the lowest common multiple of 24, 36 and 40.

a. 120
b. 240
c. 360
d. 480

Answer. ¢

5. Excluding stoppages, the speed of a bus is 54 kmph and including stoppages. It is 45 kmph. For how many minutes does the bus stop per hour?



d. 20

Answer. b

6. A shopkeeper sold an article for Rs 2564.36. Approximately what was his profit percent if the cost price of the article was Rs 2400.

a.4%
b. 5%
c. 6%
d. 7%

Answer. d

7. A tree is 12 m tall and casts an 8 m long shadow. At the same time, a flag pole caste a 100 m long shadow. How long is the flag pole?

a. 150 Meter
b. 200 Meter
c. 125 Meter
d. 115 Meter

Answer. a

8. A man took a loan at rate of 12% per annum simple interest. After 3 years, he had to pay 5400 interest. The principal amount borrowed by him was.

a. 14000
b. 15000
¢. 16000
d. 17000

Answer. b

9. Find the average of first 10 multiples of 7

a.40.5
b. 34.9
c. 36.8
d.38.5
Answer. d

10. A farmer travelled a distance of 61 km in 9 hours. He travelled partly on foot @ 4km/hr and partly on bicycle @ 9 km/hr. the distance travelled on foot
is:

a. 14KM
b. 15KM
c. Il6KM
d. 17KM

Answer. ¢

11. Who laid the foundation of Indian National Army?



a. Subhash Chandra Bose
b. Rash Bihari Bose

¢. Mohan Singh

d. Sohan Singh Bakhna

Answer. ¢

12. Lavani one of the most popular forms of dance and music that is practised in which state?
a. Maharashtra

b. Bihar

c. Gujarat

d. Andhra Pradesh

Answer. a

13. Which divides the world into different time zones?
a, Latitudes

b. Longitudes

c. Equinox

d. Solstice

Answer. b

14. India is politically divided into

a. 29 States 7 union territories

b. 28 States 7 union territories

¢. 27 States 7 union territories

d. 29 States 6 union territories

Answer. a

15. From which place Narmada river originates?

a. Amarkantak
b. Aravalies

c. Betul

d. Nashik

Answer. a



16. The first railway line was opened between

a. Bombay and Thane
b. Pune and Bombay
c. Goa and Pune

d. Delhi and Agra

Answer. a

17. National flag was designed by

a. H C Mukherjee

b. Dr B R Ambedkar
c. Pingali Venkayya
d. Dr John Mathai

Answer. ¢

18. Training command to Indian Army is located at

a. Pune

b. Jaipur

c. Shimla
d. Lucknow

Answer. a

19. Which of the following trophy is related to badminton?

a. Davis Cup
b. Ryder Cup
c. Uber Cup

d. Durand Cup

Answer. ¢

20. Which is the highest military award during peace time?

a. Ashok Chakra

b. Kirti Chakra

c. Shaurya Chakra
d. None of the above
Answer. a

21. Below the number is given with one term missing.Choose the correct alternative that will continue the same pattern in place of question mark (?)-:
28,33,31,36,?, 39.

a. 32



b. 34
c. 38
d. 40

Answer. b

22.EFG :1JK: MNO : ?

a. PQR
b. OPQ
¢. QRS
d.NOP

Answer. ¢

23.

If "Blue" is called "balck", "balck" is called "green", "green is called "white", "white" is called "red", "red is called "yellow" and "yellow" is called "gray",
then what is the colour of milk?

a. White
b. Blue
c.Red

d. Yellow

Answer. ¢

24. Deepak is brother of Ravi.Rekha is sister of Atul. Ravi is son of Rekha. How is Deepak related to Rekha?

a. Sone

b. Brother
c. Nephew
d. Father

Answer. a

25. Ram is to the south of Shaym and to the west of Rani.If Priyanka is to the south of Rani,then in which direction is Priyanka with respect to Rani?

a. South

b. North-East
c. South -West
d. North

Answer. ¢

26. MKS stands for?



a. Mass-Kilogram-Second

b. Mass-Kelvin-Second

c. Meter-Kilogram-Second

d. Meter-Kelvin-Second

Answer. ¢

27. The Newton's first law is also called

a. Law of energy

b. Law of momentum

¢. Law of force

d. Law of inertia

Answer. d

28. Which of the following is the cleanest source of energy?

a. Bio Fuel

b. Fossil Fuel

c. Nuclear power
d. Wind energy

Answer. d

29. Which one of the following is correct for gravitational acceleration (g)?

a. g=GM2/R
b. g=R/GM

c. g2=G2M/R
d. g&=GM/R2

Answer. d

30. Pure water freezes at

a.0°F

b.30°F

c.32°F



d. None of these

Answer. ¢

31. The hearing range of human ears

a.20 Hz to 20 kHz
b. less than 20 Hz

c. more than 20 kHz
d. 20 Hz to 25000 Hz

Answer. a

32. When a magnet is suspended freely it always aligns itselfin ...........

a. North

b. South

c. North-south
d. East-west

Answer. ¢

33. Which of the following pairs is not correctly matched?

a. Electron : Dalton

b. Proton : Goldstein

¢. Neutron : Chadwick

d. Nucleus : Rutherford

Answer. a

34. Iconic bond is formed when there is transfer of electrons from

a. Non-metal to metal

b. Metal to non-metal

¢. Metal to metalloids

d. Metal to metal

Direction.



Answer. b

35. Ribosomes are found in

a. Cytoplasm and nucleus

b. Golgi complex and nucleus

¢. Mitochondria and bacterial cell

d. Endoplasmic reticulum and golgi complex

Answer. ¢

36. Who among following was responsible for partition of Bengal?

a. Lord Mountbettan
b. Lord hastings

¢. Lord Curzon

d. Lord Dalhousie

Answer. ¢

37. What is the number of chromosomes in human body?

a.23
b. 46
c. 47
d. None

Answer. b

38. Find the square root of 18769.

a. 131
b. 123
c. 137
d. 139

Answer. ¢

39. Who was the first woman Vice Air Marshal?



a. Durtha Banerjee

b. Padma Bandopadhyay

¢. Subroto Mukhi

d. Geeta Thakur

Answer. b

40. What is the chemical symbol of gold?

a. Au
b. Sn
c. Ag
d. Pt

Answer. a

41. What is the angle between two sides in an equilateral side?

a. 30°
b. 60°
c. 90°
d. 150°

Answer. b

42. Which of the following is composed by kalhan?

a. Kavitavali

b. Godan

c. Meghdoot

d. Rajatarangini

Answer. d

43. Which of the following gas is poisonous?

a. Carbon dioxide
b. Oxygen

c. Carbon Monoxide
d. All of the above
Answer. ¢

44, If the length and breadth of a rectangular field are 80m and 60m respectively and a 3 meter wide path has been made from the edges inside it,then what
will be the area of the path?



a. 4800 square meters
b. 300 square meters
c. 804 square meters
d. 800 square meters

Answer. ¢

45. When was the first battle of Panipat fought?

a. 21 April, 1526
b. 21 Aril, 1562
c. 20 April, 1556
d. 21 June,1761

Answer. a

46. What is the frequency of AC (alternate current)?

a. S0Hz
b. 20Hz
c.35Hz
d. 65Hz

Answer. a

47.IfA:B=3:4andB:C=8:9,then A:C=?

a.2:3
b.3:2
c.4:5
d.6:7

Answer. a

48. Mahatma Gandhi was assassinated in the year?
a. 1945

b. 1948

c. 1950

d. 1949

Answer. b

49. A heavy object when immersed in water feels much lighter. Thisis dueto ................ .

a. Buoyancy



b. Acceleration
¢. Friction
d. Gravity

Answer. a

50. By sclling an old scooter for Rs. 2970, a man losses 10 %. At what cost he should sell the scooter as to gain 20% ?

a. Rs. 3690
b. Rs. 3660
c. Rs. 3960
d. Rs. 3560

Answer. ¢
Test Question Language:- HINDI

1.T& o7 T =em off 17 3 areact B o1 SR R (RER T3AT) IRV 60 U2 3 2

c. 17
d. 20

Answer. a

2. Ul T SR b U fBdl?

a. 0.0025
b. 0.0256

c. 0.00027
d. 0.000126

Answer. ¢

3. R MU 3:4:5 1 UIRRIG 3MRA SN A AYTH IRE fAUTB2400 M. R AT T U Head Ifie faueie fdt s 2

a. 40
b. 80
c. 120
d. 200

Answer. a

4,24, 36 31 40 T Fald Biel WS OTHR HIOT?

a. 120
b. 240
¢. 360

d. 480



Answer. ¢

5. UiS aiTesdT, §9ET a1 54 fpadier ufaarg onfor uie 9% a9ar o 45 fraiier ufdar sawr ofg. @R & ufaa a9 fadt feind) uisedt sRw?

a.9

b. 10
c. 12
d. 20

Answer. b

6. T THFER Th a¥d Z 2564.36 @1 fawdl. SR a1 a5gd! oo fbra T 2400 3R R @1 gHMCRIAT fbdl <o 0T el 3-d?

a. 4%
b. 5%
c. 6%
d. 7%

Answer. d

7.0 IS aRT Hiex 999 3R, I Irae § Hiex @i UsSd. Al det, Ul egolredl Wiaml Jrget 100 Mex dfd Usd. dk H7 ol Wiar 39t fbdt sia?

a. 150 e
b. 200 Tex
c. 125 fieR
d. 115 dieR

Answer. a

8. T TR &R A R AbST 2 % IR AR Fol 9dd. dF e, Tl 5400 e WA AFIE. R W I AR [t Jea ISl &of gad gha?

a. 14000
b. 15000
c. 16000
d. 17000

Answer. b

9. 7 = ufeedl 10 UTHRIE TR HeT?

a.40.5
b. 34.9
c.36.8
d.38.5
Answer. d

10. ToT Vs 6 ey § SR 3 dNHe) U, M FTE IR IR fFamter ufade a1 37 urft e urR &a onfdr F18t siaR 9 frarier wfaar ar
MM IOHTR UR Bl R T AW IRl Iad fobeht Sfek IR &t ?



a. 14feh
b. 15 f&dt
c. l16fadt
d. 177

Answer. ¢

11. ¥R T S gEdie wue urn st 3T de?

a. gUIYES a9
b. IR Y
c. 1ig g

d. Tiee R s

Answer. ¢

12. @raoft 1 U Fald AHE T 1 M YBR BT I IR Se?

a. HeRTY
b. fSeR
¢. ToRIT
d. sfiy wem

Answer. a

13. SR AT YHIU ISTER S HAMS Fel?

a. 31§
b. 3@
c. faga

d. Fpiat

Answer. b

14. YRd IS ST AU 3R...

.29 T 7 bEnid we™
b. 28 I 7 HEMRIT T
€. 27 7Y 7 HEIRE ue™
d. 29 TV 6 HERRT Y™

Answer. a

15. ey T BT RIFIRA 3T Urad?

b. 3Raqit

¢. ¥q@
d. TRrw



Answer. a

16. Taid TuH Y@ AR BT RIFST R e BRI Tl

a. gag offr omdl
b. gor ST Hes
c. Tirar snfor gor
d. faweht anfor amn

Answer. a

17. 78t sqoma fwfor (Fegmee) ol Ha?

a. TF. . gaelt
b. . IETRE HASHR,
c. et depan
d. Sf. 9 AYE,

Answer. ¢

18. YRdT I URNer HHIS $& IMMR?

a. qu

b. SR
c. Ran
d. TS

Answer. a

19. TFT P TH (IVF) TefieTh e emR?

a. SfX9 IvF
b. TSR HU
¢. 3R FU

d. XS U

Answer. c

20. Ml FIM IS SO ARGANS Faia gia?

a. 3% b

b. FIdl =%

c. I T

d. e I E
Answer. a

21. Wreht T ofp {Ad Mg gl U AR faen A, o of fRdan At Ot ofp @ fawolt T oI U ang THig SIRTEST (Yed) TR 85 , R e
Srqare fe@moft S siw sRa? (2)-: 28, 33, 3, 36,2, 39?



a. 32
b. 34
c. 38
d. 40

Answer. b

22. EFG:1JK : MNO : ?

a. PQR
b. OPQ
¢. QRS
d. NOP

Answer. ¢

23. SR " Tar "HreT Wed, " Bl Jar e ed, "fiike” Fen "uiexr" wed, "l {her " "aa” Wed, "ara” wen "fger” wea it "fiae”
Tl IETE! Ted, TR G T HIofr?

a. TigY
b. FeT
c. A

d. =T

Answer. ¢

24, U o1 UG I 3R, X@T S = ST R, I YW GerT R, R AT e AT Y@ Feamed HIurd A 3?

a.
b. YIS
c. YT

d. a8

Answer. a

25. 31 1 XA léoen oy onfor e uf¥fen o sk friw e fEmian siia @, wvfen wiHORE e i et sia?

a. gf&mr

b. SWR-gd

c. Tf&r -ufym
d. IW

Answer. ¢

26. THHTY (MKS) TUR B2

a. ToOHH-fFaTm-Jdg
b. GEHHH-Hied-Tdg
c. Hiex-fra-Sse



d. fier-Ffeg -Idg

Answer. ¢

27. e ufgedr Faaren g gg1 wuraa?

a. Forar
b. T e
¢. TRITET HrIar
d. s e

Answer. d

28. AU HIUCT TId 8T Fordl Tad s WA 3?2

a. g ge
b. Sa=A S
¢. ¥ 4l

d. g ol

Answer. d

29, TEAHYU @RUATT WUl(g) MR THRITRIH Jeuld Treliate! Hiom uaig 3 $me?

a. it =slleA 2/3R

b. Sh=arR/shea

c. o =5t 2T /3R
d. st =sfiem /3 2

Answer. d

30. Y ol a1 AOEERT Mod?

2.0°W
b.30°%
c.32°%.
d. TP P A1

Answer. c

31. AFdT HH THUIRE el G HI0T JH?

a. 20 g I 20 fraiedy
b. 20 ¢30&T IR

¢. 20 frdiedaen s
d. 20 5 T 25000 T

Answer. a

32. 9@ AEgsd Gauul dehad d RS o Al Wa:em



a. 3w

b. af&mr

c. IR-afém
d. gd-uftmy

Answer. ¢

33. Trcfiatet SRl it & dva Jeadd e

a. 3qdeH : Sleed
b. WieH : MeswH
¢. JgH : Trsfam
d. YFTE : IS

Answer. a

34. @ FA OB AT IR RaRd grard?

a. YT O g
b. o1 O T
c. o1 o Heasey
d. Ui d oI

Answer. b

35. ITEIEE e qISa?

a. IIFSIErSH YT gfdTas

b. T Piciay Sftr gfaead

¢. qrEersitear 3fdr dafaren o=h

d. S YepeH iy Ml Pirced

Answer. ¢

36. ST BIBUNTS! Tiellais] B Soeer gia?

a. 98 Adeaed
b. @S 3™
c. TS A
d. S sag

Answer. ¢

37. Odl IRRTG ORI SRe Ot amg?
a.23

b. 46

c. 47



d. None

Answer. b

38. 18769 ¥ wigw ®ral.

a. 131
b. 123
c. 137
d. 139

Answer. ¢

39. ufeelt wfeen wIew ARG o1 A

a. gl §sif
b. U= SEOER

c. ol gt
d. a1 3R

Answer. b

40. IR ImEfAe e BE sme?

a. Au
b. Sn
c. Ag
d. Pt

Answer. a

41. Y oA T Iemdd BF G eme?

a. 30°
b. 60°
c. 90°
d. 150°

Answer. b

42. TP Hegd AT BRI =T el IAR?

a. Hfaaraat
b. MeH

c. Jugd
d. ISR

Answer. d

43, Wrefiatet S 9y fJuRt em?



a. Pld SHAHES
b. SiffRaer

c. B ASiREs
d. 38 wd Mg
Answer. ¢

44.3?&@&?3%%3@6@%@@&%&80marrlﬁl60memaamﬁrwafm&WW3WEWWW@?{,WWWW
faelt ?

a. 4800 IR TR
b. 300 IR¥ Hex
¢. 804 IR¥ Hex
d. 8003R¥ Hex

Answer. ¢

45, yifgadt ufgelt ders et amei?

a. 21 T, 1526
b. 21 TR, 1562
c. 20 ufiie, 1556
d. 215,1761

Answer. a

46. TH! (JTEd Yarg) 9 IRaRal ol omg?

a. 50 &<
b. 208¢H
¢. 358
d. 658

Answer. a

47. SR A:B=3:43MIB:C=8:9,dVA:C=?

a.2:3
b.3:2
c.4:5
d.6:7

Answer. a

48, TgTen e g wioren aff gne?

a. 1945



1. (a)

11. (¢)
21. (b)
31.(a)
41. (b)

b. 1948

c. 1950

d. 1949

Answer. b

49, S 9% UUUG §Saed df SR B! died. §

a, WU dd9
b. @l
¢. 7Y
d. TSR

Answer. a

50. I WHeX $.2970 1 faF,TH1 AN 10% dier gl 20% T fAioquard! @M Wex fod! fbadiar fawmr?

a.%. 3690
b.?. 3660
c. . 3960
d.®. 3560

Answer. ¢

2. (c)

12. (a)
22.(c)
32.(¢)
42. (d)

3.(a)

13. (b)
23.(c)
33.(a)
43.(c)

4. (c)

14. (a)
24. (a)
34. (b)
44. (¢)

5. (b)

15. (a)
25. (¢)
35.(c)
45. (a)

Test Answer

6. (d)

16. (a)
26. (c)
36. (c)
46. (2)

7. (a)

17. (c)
27.(d)
37.(b)
47. (a)

8. (b)

18. (a)
28. (d)
38. ()
48. (b)

9.(d)

19. (c)
29. (d)
39. (b)
49. (a)

10. (c)
20. (a)
30. (c)
40. (a)
50. (c)



